Caractéristiques de I'épreuve

3X Ballan-Miré Eymoutiers Liévin

Joueurs : 154 M =308 D=2

Joueurs par Série : Total :
Serie1: A:0 B:1 1
Serie 2:: A:3 B: 4
Serie 3: A:2 B:4 6
Serie 4 : A:15 B:19 c: 1 D:14 59
Serie5: A:24 B:14 Cc:7 D:7 52
Serie 6 : A:19 B:6 c:0 D:0 25
Serie 7: 7 7
Liévin TH2

Joueurs : 60 M =0 D=0

Joueurs par Série : Total :
Serie1: A:0 B:1 1
Serie 2: A:l B:0 1
Serie 3: A:2 B:2 4
Serie 4: A:6 B:4 C:3 D: 18
Serie 5: A:10 B:4 13 D 20
Serie 6: A:8 B:3 :0 D: 11
Serie 7: 5 5
Eymoutiers TH2

Joueurs : 46 M =0 D=0

Joueurs par Série : Total :
Serie 1: A:0 B:0 0
Serie 2: Al B:0 1
Serie 3: A:0 B:2 2
Serie 4: A:4 B:3 C:4 D: 14
Serie 5: A:9 B:5 13 D: 20
Serie 6: A:5 B:2 C:0 D:0 7
Serie 7: 2 2
Ballan-Miré TH2

Joueurs : 48 M =0 D=0

Joueurs par Série : Total :
Serie1: A:0 B:0 0
Serie 2: A:l B: 2
Serie 3: A:0 B:0 0
Serie 4: A:5 B:12 C:4 D:6 27
Serie5: A:b5 B:5 01 D:1 12
Serie 6: A:6 B: c:0 D:0

Serie 7:: 0
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